
Тема дня: Алгоритмические структуры. 
Повторение. 

 

 

«Офис Swiftex» 



Математические операции 



Линейный алгоритм 
Пример правильного кода: 
program zadacha; 
Var a, b, c, d, m, n, S1, S2, S3, S: 
integer; 
begin 
writeln('введите ширину 
комнаты'); 
readln(a); 
writeln('введите высоту 
комнаты'); 
readln(b); 
writeln('введите ширину 
окна'); 
readln(c); 
writeln('введите высоту 
окна'); 

readln(d); 
writeln('введите ширину 
двери'); 
readln(m); 
writeln('введите высоту 
двери'); 
readln(n); 
S1:=4*a*b; 
S2:=c*d; 
S3:=m*n; 
S:=S1-(S2+S3); 
writeln('ответ ',S); 
end. 

 



Разветвляющийся алгоритм 



Таблицы истинности И, ИЛИ, НЕ 



Циклический алгоритм 


